YOKOHAMA FRAME

ASSEMBLY INSTRUCTIONS
Thank you for choosing our product.
This practical design offers the utmost in versatility.
Before assembling your Yokohama, please read through these
instructions carefully, familiarising yourself with the different parts.

Please note that you will require an Allen Key.

YOKOHAMA FRAME
BED POSITION

YOKOHAMA FRAME SHOWN COMPLETED ASSEMBLED

HARDWARE

i ﬁ =
M6 Allen Key - 1 pc

M6 x 50 mm Allen Bolts - 4 pcs

|l-\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\| o

G M6 x 35 mm Allen Bolts - 8 pcs —
[| | Y ﬁ M8 Allen Key - 1 pc

M8 x 50 mm Allen Bolts -4 pcs Page 1 of 5



00000000




\/Assembling by Adult)
—\

o

() i

50 mm Allen Bolt
—
G

Allen Key

———/

Attach the Storage Rails (06) to the Back Leg (04), using 50 mm Allen Bolt (A) and Allen Key (C).
Guide the Back panel Carefully so it would not jump out from groove.

@)-))))))J))))))))))))))))))))))))))))J))))))))))))i

M6x50 mm Allen Bolt
Assembling by Adult y

M6 Allen Key

M8 Allen Key
——
)

@)-))))l)))))))))))))l))))))))))))))l)))))))))))))li

M8x50 mm Allen Bolt

——

Attach the Front Leg (02) and Leg Support (08) to the Back Leg (04), using M6x55 mm Allen Bolt (E)
and Allen Key (D).

Page 3 of 5

YOKOHAMA FRAME



04) using 35 mm Allen bolt (B) and Allen Key

(

rted Nut

(]
(2]
c
N
o
o
o
<
=
=
(@]
o
—
X
(8]
@©
m
(]
e
=
o
-
—
0
o

(

Fix the Back Deck

!
now

CONGRATULATIONS

our Yokohama Be
is ready for use

Your Yokohama Bed

rted Nut (02) using 35 mm Allen bolt (B) and Allen Key (C)

Fix the Seat Deck (03) to the Front Leg with pre-inse




ASSEMBLE
OPERATION INSTRUCTIONS

After all Part assembly, Yokohama in bed position Lift Up
Lift Up

Back Deck Seat Deck Drawer
Lift the Back deck up Until the Seat Deck fully down on the floor

—

Yokohama in Sofa Position. Fold Leg Support to lock the
Back Deck and Seat Deck as shown. Push the Drawer in.

Unfold Leg Support to unlock the
Back Deck and Seat Deck as shown.
Pull the Back Deck down until lay on the floor.

Sofa Position Complete

Page 5 of 5

YOKOHAMA FRAME



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

